Calculus BC – Chapter 12 - Even Answers (F.T.D.W.)
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Practice Exercises

2. 
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4. (3, ln 2, 1)
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8. 
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10. 14

12. 
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20. ymax = 57 ft

22. vo = 59.19 ft/sec  















24. 8 mph = 176/15 ft/sec 


     � EMBED Equation.DSMT4  ��� 


(a) ymax = 36.92 ft at t = 1.4 sec


(b) y = 30 ft at t = .75s and 2.05s


      98.11 & 251.91ft from home plate


(c) y = 0 at t = 2.95s when x = 347.32 ft


(d) No. A homerun if k = .01


26. tangent line equations:


    � EMBED Equation.DSMT4  ���


28. At (1,1,2/3) for t = 1, � EMBED Equation.DSMT4  ���


     parallel to � EMBED Equation.DSMT4  ���and hence a normal vector, � EMBED Equation.DSMT4  ���, to the plane: ax + by + cz = d  


x + y + z = d, and d = 8/3, x + y + z = 8/3 or 


(x – 1) + (y – 1) + (z– 2/3) = 0


30. Another curvature formula for plane curves:


     � EMBED Equation.DSMT4  ��� = cos t


32. f.p. = � EMBED Equation.DSMT4  ��� so consider � EMBED Equation.DSMT4  ���


     � EMBED Equation.DSMT4  ���


for critical points of x = 0, � EMBED Equation.DSMT4  ���, � EMBED Equation.DSMT4  ��� (which also include the endpoints, so…)


 We need only evaluate r at these 3 angles to find the minimum and maximum distances.


 r(0) = r(� EMBED Equation.DSMT4  ���) = ro > r(� EMBED Equation.DSMT4  ���) , so ro is the minimum.
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